
Complete the following sentences: 

1.Plants consist of stem,  ………………….. and 

……………………. 

2. Plants absorb …………………..... and…………… from 

the soil through their…………………... 

3. Plants make their own food through ............ 

process that takes place in their ………………… 

4. The stem carries water and nutrients from the 

…………… to the ………………………. of the plant. 

5. The plants use the light of ………………………… to 

make their own food. 

6. The food of plant is a type of   … ………………..... 

Which is made in their ……………….. by 

photosynthesis process 

7. Soil is the source of.............. and nutrients 

which the plant needs to make its own food. 

 



Write the scientific term of each of the 

followings: 

1- A gas taken from the air by leaves to help 

the plant to make its own food. 

(…………………………) 

2- A liquid substance that plants, animals and 

human need to survive.(……………………………) 

3- A part of the plant that carries water and 

nutrients from the roots to the 

leaves.(………………..) 

4- The process by which the plant can make its 

own food (………………………………) 

5- The gas which is released from plants 

during photosynthesis 

process.(………………………………) 

6- The source of energy that the plant uses to 

make photosynthesis 

process.(…………..……………………) 

 



Cross out the odd word: 

1. Carbon dioxide gas — Water - Oxygen gas - 

Sunlight 

(…………………………………..) 

2. Roots - Stems - Leaves - Sunlight. 

(…………………………………..) 

 

Give reasons for: 

1.Roots have important role in photosynthesis 

process of plants . 

…………………………………………………………………. 

…………………………………………………………………. 

1. 2. Photosynthesis process is important for 

plants to survive. 

…………………………………………………………………. 

…………………………………………………………………. 

 



What happens if: 

1.Plants have no stems . 

…………………………………………………………………. 

…………………………………………………………………. 

2. Plants can't get carbon dioxide gas from air. 

…………………………………………………………………. 

…………………………………………………………………. 

3.We put a green plant in a dark room for many 

days. 

…………………………………………………………………. 

…………………………………………………………………. 

 

Choose from column (B) what suits it in 

column (A) 

 

 

 


